0014040 180
000000 No2(DOUDODODDOD)

O1-ggopobooogd.

(&) V- (fA)=(Vf)-A+(V-A)f
(b) V % (fA) = (Vf) x A+ (V x A)f
(¢c) V-(AxB)=B-(VxA)—A-(Vx B)

O2*r=xi+yj+zk,r=+2*+y*+222000000000000.

03*00000 A(z,y,2) = (2> —y*)i+2xyj + 20000, 2-,y-000 2-
003000000000 «0000000D00O00DO0O0O JffV-AdV OO
ooodooooog [fA-4dSOO00,0000000000000000
goooo.

04* 0000 (r6,¢) 000,

() 000000000,

() 00D0OD0O0D0,0000,00,00,000000.

() 00000 f(r)=2/*0000000000000.
0500000 A(z,y,2) = —2*yit+ay’j+22k0000, 22+y*+22=1,2>0

ooopoooooooooO f(VxA)-dSOOODODOODO z-y0000O

022+¢4?=1000000 fA-dr0000,0000000000000
ooO00o0O0oooo.



(@)

(A) 300000000004, 5,k00000 z-,y-, --00000000000
000,00000 f(x,y,2) 000 (gradient), 00000 A(z,y,2)000
(rotation) 0 0O OO (divergence) 00000 ODODOOODODO.

: of . of . 0
) 00 Vf—gradf = ghiv i+ T
i j k
i) 00: VxA=rotA=| 2 8% 2
A, A, A,
0A, 0A,\. 0A, 0A.\. ,0A, O0A,
:(ay_7;>’+(az_ax)7+<7;_ (9y)k

: 0A, 04, O0A,
i) 00: V-A=divA = 5 + 9 + o

(B) i)g, fO0000DO,A BOOOOODODODODDODDOOOODOOODOOOD.

V(fg) = fVg+(Vf)g

Vo (fA) = (Vf) A+ (V- A)f
Vx(fA)=(Vf)x A+ (Vx A)f
V-(AxB)=B-(VxA)—A-(VxB)
Vx(AxB)=(B-V)A-B(V-A)—(A-V)B+ A(V-B)
V(A-B)=(B-V)A+(V-A B+Bx (VxA)+Ax(VxB)
V x (Vf) =rot gradf =0

V- (VxA)=divrotA =0

Vx(VxA)=V(V-A)-VA

iyoooooo:voooooo,sSsooooooooo,

//SA-dS:///VV-AdV

i) 0000000 Soo0o0O000,co00OooooO,

/CA-dr://S(VXA)-dS

(C) 00O,00,000D0000O00000OODDOOO.



i)

if)

iii)

OO0: Ar0OdoOoO,l0000000DOOODOOOOO,

(V1) 1= Jim - Af(r+ Ar) — f(r)}.

Oob--0b0000,00000 fO0O0ODO0OOOODOOOODOO
OO00O0o0oo0ob0o0O,b0o0b00boobo0obbooboobobOoDo fo
Oobooboooobo.0ooboooobo f=000000000ODO.

00: n00000000000000,ASODDOO,ACDOOO
0oooo,

WxA)n—h%Z§£J4M
000, §0000000000000000, f,A-dr0 ADCO
00000000000000.000 F(r)0DO0D0000000
000000000000000,VxF=00000000.

O0: AVOODOOooooo,Asodooooooo,ooad,
V-A= lim 1/
AV—0 AV J/as
A0000DO0OO0O0DOOOOO,000000000O0000O00000O

OASOO0O0O00O0O000O00O00oOooooo.

A-dS.

(D) ‘00000000 (u,u,u3) 0000, 00000 ¢0000 «, 0000
s, 000000, 000000000000000 65,0, 8s; = g;6u; O
0000000.000,000 (ug,us,us) 0000 (ug 4 6uy, us,us) 00 O
000 g6y, 000.000000,00000000000:

0 0 0
0= ) G ()

e, 000w, 0000000D00,AD000D00A0wO0D0O00O0DODOODOO,

i)
ii)
iii)

iv)

v)

O0000:ds= \/(gldul)Q + (g2dus)? + (gsdus)?
O000: dV = g19293 duydusdus
1 0f 1 0f 1 of
Od: Vf=——e +— —
f %1 8u1 €l g2 8U2 gs 8u3 €3
1 gi1€1  g2€2 (g3€g
O0:VxA= T

ou Ous Ous
919293
g1A1 g2 Ay g3As

1 (89293A1 Dg3g1 Az 6919243>
+ +
919293 duy Ouy Ous

O0:V-A=

Dooooo0oO0oO00(@OO0)2.30000



